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LINEAR EQUATIONS: Writing Linear Equations
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What is an equation of the line that passes through the point (4,—6) and has a
slope of —37

(1) y=-3x+6 (3) y=-3x+10

(2) y=-3x—6 (4) y=—3x+14

What is an equation of the line that passes through the point (3,—1) and has a

slope of 27
(1) y=2x+5 (3) y=2x—4
(2) y=2x-1 4) y=2x-—-7

An equation of the line that has a slope of 3 and a y-intercept of —2 is
(Hx=3y-2 3)y=-x
RQ)y=3x-2 (dHy=—"2x+3

Which equation represents the line whose slope is 2 and whose y-intercept is
6?

(1) y=2x+6 (3) 2y+6x=0

(2) y=06x+2 4) y+2x=6

If point (-1,0) is on the line whose equation is y = 2x + b, what is the value of
b?

(1 3 3
2)2 4 0

What is an equation of the line that passes through the points (3.,—3) and
(—3,-3)?

() y=3 3) y=-3

(2) x=-3 4) x=y

What is an equation for the line that passes through the coordinates (2,0) and
(0,3)?

3 2
1 =—=x+3 3 =—=—x+2
)y 5% 3y e

@ y=-2x-3  @y=-3x-2

Write an equation that represents the line that passes through the points (5, 4)
and (-5, 0).



